Absorbing_Capacity_H=8 Resource_G=6 Utilization_System_6=8 Resilience_R=0.9
1 11 e =] T e~ 1
P B E— = B
= 3 N e I e
L51 :g =
s = e c—
L S e— TR (P ST [ B —
< S — [ == | Faae——l
i - — | S, B | = R .
i? - VT | C—F 1 | — e
b — === |
14 7\ 7 = j 7 "\ |
15 - L=h | o)
is : ] = |~ —— | o —|
1; T S I J | E—= ) | [— =
19 E=——~_1 [ ] | — e — ) |
20 = ] 7 I I |
n = | | 0. N I
% Ema—s ] | —; o | 0
23 C = ] a——==1
20— (= S— —
7355 —=3 [ Z=f | "
76 I— =/ : q S T— - Y — -
27— r = % ———

Active input membership functions g Active output membership function



